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1.    ก��ก#���$��%�$&������'�()%��*�����+��ก��,-$ก�������'�./01�$�)���ก-�(2�
ก)�3.45+��16��-���7������.���-�4ก�,  ก��,-$ก����/��ก��1��  ก����,-�  ก�����ก��
��8�ก��  ()%ก��������,-$ก��  ./0��9�(���:��-;�./0$/ (Best  Practice) 

�����)!������
 
ก��������,-$ก�� ก�����ก����8�ก��()%��-�(�)�67��.�$< 

1. ก��1-����()ก��)/0�������'� ก��67��.�$�=���� 
�ก/0��ก-�ก��,-$.#�(2��3.4��1;�5 5 �	 (�	����%���
2555-2559) ()%ก����%ก-��3�������@�./0$/   
�-�./0 2 ก3����-�45 2554 � ������%83� 214 �����
13��-A�5 1 �.�=�4��/ 

1. ��B$;#�����3.���2/�1CD� ,�ก�37�1'7�37�        :  
�.$�.�3,  ��ก; 2'��)7���C0�� 
�-�./0  26  �ก����   2554  � �3.���2/�1CD� 
�.�=�4��/ 

2. +����$�-ก�-A��   :  2'��#����ก���.�=�4��/        
2'��)7���C0�� 
�-�./0 25 1������ 2553 � �3.���2/�1CD� �.�=�4��/ 

2. ��%1�ก���5ก��67��.�$���5�����'� ก���)'ก�-�
1#��%�)-�  :  �.$�.�-�,���5  13+4#��� 2'��)7���C0�� 
�-�./0 28 ��
��� 2554 � �����13��-A�5 1 

3. ก��(ก��GH����7��1����1���5  :     �.$�.��
58-� 
,�;;%�-�  2'��)7���C0�� 
�-�./0 27 ��
���� 2553 � �����13��-A�5 1 

 

 
��*�$��&ก�����ก��������
 

ก����%$�����ก�� ก����%ก���%+�ก������������,-.�&���/ 
1.1 ก��67��.�$�=���� @�������'��ก/0��ก-�ก��,-$.#�
(2��3.4��1;�5 �%�% 5 �	 (��%,#��	����%��� 
2555-2559)  ()%ก����%ก-��3����ก����ก
� 
��%,#��	ก����ก
� 2553  ,�ก�%$-������.��)-�)�1'7
�%$-���7������.�=�4��/ 
=$��8�H����4�ก���$/JK�����(2�  2'�87���4�ก���$/
JK����8�ก��  �-�����17��(2����  ()%�3��)�ก;  �%
L�.�5  �'��51�ก�,��ก
�()%�-A����8/�  �����.-D��8�H
��7�������1��ก�, 3 (�7� �+���7���1���()ก��)/0��
�����'���%1�ก���5$���  @��-�./0 2 ก3����-�45 2554 
1.2 ก��67��.�$�=���� @�������'�ก��,-$.#�(2�
�3.4��1;�5 �%�% 5 �	 (��%,#��	����%��� 2555-
2559)()%ก����%ก-��3����ก����ก
� ��%,#��	
ก����ก
� 2553  ,�ก�%$-���7�����)�1'7�%$-��:��-;� 
(�3�)�ก��.�=�4��/) 
=$�ก��,-$1-�����3�)�ก���%,#��	����%��� 2554  

1.1 ก���)7���C0��ก��$#��������=���ก���3.���
2/�1CD� ���@;�������ก�,�)-ก$������ก����8�ก�� 
1�$�)���ก-��=���������.��)-�     ;���ก��@��
�.�=�4��/ ��9�(�)7���/���'�+��83�8� ()%ก���'�
��ก��@���+��ก-�ก����/��ก��1��ก-���7�����
� � � @ � � � � �� . � � )- �  � 87 �  1# � �- ก �� 8 �
�.�=�=)�/ก���ก
;�  M��5������.��)-�  
1.2 ก����%8�1-��-�45�2�(��7        @���3�)�ก�
�.�=�4��/���,���5  2'�1�@,,�ก��7��������@�
()%�����ก�����.��)-�  1����6�-��'�+���')
+7��1��.-0�6��ก-� 
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ก����%$�����ก�� ก����%ก���%+�ก������������,-.�&���/ 

@�87���%��7���-�./0 4-6 ก3����-�45 2554 � ,-���-$
ก�H,��3�/  1����6�+��@,�=����()%�-;63��%1��5ก��
,-$.#�(2��3.4��1;�5 5 �	 ก��������%�51���(�$)���
.-D����@������ก  ก��ก#���$ก)�3.45  ��*�����  
;-�8/D�-$2)���(;7)%=���ก�����@;�����-�4ก�,./0L$��-�
�������,�ก�����.��)-� 

1.3 �3�)�ก��.�=�4��/  �+��@,()%1����6�#�
(2��:��-;�ก��L�@8����L$�,���  ก7�@���ก�$��%=�8�5;7�
ก��$#�����������@�+��(;7)%=���ก�� 

 

2.1 ;���ก��@���3�)�ก��.�=�4��/�+��@,�)-กก��
(��������$ก���-A��;���� �-A��2'��C0� �-A��
���5ก���7��L�   ./0,%.#�@��ก��.#�����7��ก-���7���/
����13+@����5ก� 
2.2 1����6�#��)-กก��(��������$��-�@8� @�
ก�%���ก��.#����  ��C0����0���%1�.4����@�ก��
.#����./0$/ 

2.1 ก��67��.�$��%1�ก���5ก��.#������,-�ก��
.$)���)'ก�C8L�7 ก���)'ก�-�1#��%�)-� @��ก-�ก)37�
�ก
;�ก�,-���-$�����81/�� 
2.2 ก��67��.�$��%1�ก���5ก��@�������'� ����
���ก����8�ก��$���ก���)'ก�-�1#��%�)-� @��ก-�ก)37�
�ก
;�ก�,-���-$�����81/�� ��C�2'�./01�@, 

2.3 ก��67��.�$��%1�ก���5ก��.#���� ��-8H�
ก��$#�����8/��; @���3�)�ก��37��)-� �.�=�4��/ �#�L�
��-�@8�@�ก�%���ก��.#����  �87� ก��$#��������
��7��,���,-�()%;7���C0������'7ก-��3�4���    ก����$
(����กก���  ก��.# ��%L�@��ก-�1- ���()%
1�0�(�$)��� 

3.1 ;���ก��@���3�)�ก��.�=�4��/�+��@,6��1���ก��
.#�����G,,3�-�     ./0�/ก����)/0��(�)���'7;)�$��)�  
�/�)-กก�%���ก����$  ก��,-$)#�$-�����1#��-H  ก��
(ก�L+�GH����7���/1;�()%��7���/��;32) 

3.2 �#��)-กก��(��������$��-�@8�@�ก�%���ก��
.#����  ��C0����0���%1�.4����@�ก��.#����./0$/ 
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2.   ก#���$ก�(.��(���ก���*�$��&./0,%�-A�������'�()%.-ก
%$���ก��,-$ก����/��ก��1��  ก��
��,-�  ก�����ก����8�ก��  ()%ก��������,-$ก��  ��7��8-$�,�;����%�$&������'�./0ก#���$@�+�� 1  
 

ก����%$�����ก�� ก����%ก���%+�ก������������,-.�&���/ 

1.1 �3�)�ก��.�=�4��/ 
1.2 2'�1�@,,�ก��7��������@�()%�����ก 

1.1 �3�)�ก��.�=�4��/ 
1.2 2'�1�@,,�ก��7��������@�()%�����ก 

2.1 �3�)�ก��.�=�4��/ 
2.2 2'�1�@,,�ก��7��������@�()%�����ก 

2.1 �3�)�ก��.�=�4��/ 
2.2 2'�1�@,,�ก��7��������@�()%�����ก 

3. �3�)�ก��.�=�4��/  

 
3. �/ก��(�7��G�()%()ก��)/0����/���'�,�ก�����'�  .-ก
%+��2'��/��%1�ก���5;�� (tacit 

knowledge)  �012��
!$��!��3%��4%�#2�#  ;����%�$&������'�./0ก#���$@�+�� 1 ()%�2�(��7L�1'7
�3�)�ก�ก)37���*�����./0ก#���$ 

 

ก��������,-$ก�� ก�����ก����8�ก��()%��-�(�)�67��.�$< 
ก��1-����()ก��)/0�������'� ก��67��.�$�=���� 
�ก/0��ก-�ก��,-$.#�(2��3.4��1;�5 5 �	 (�	����%���
2555-2559) ()%ก����%ก-��3�������@�./0$/    
�-�./0 2 ก3����-�45 2554 � ������%83� 214 �����
13��-A�5 1 �.�=�4��/ 
�%�&�ก�-.�&��� : ����4�ก���$/JK�����(2�  2'�87��
�4�ก���$/JK����8�ก��  �-�����17��(2����  ()%�3�
�)�ก;  �%L�.�5  ,�ก�'��51�ก�,��ก
�()%�-A��
��8/� 
5�
�	
��.��ก%�ก��� : 2'�������()%�3�)�ก� ��%,#�
��7�������1��ก�, �87� M��5������.��)-�  13�1-��
�����  ()%�'��5(�.�5���ก�� 24 8�. 
�!��3%��4%�#2�# : 1. �3�)�ก��.�=�4��/.����=����
�)-กก��(2��3.4��1;�5  �-�4ก�, �����.��)-�
�������@�� 
2.  �3 �)�ก��.�=�4��/  �+� � @,()%1����6�# �
(2��:��-;�ก��L�@8����L$�,���  ก7�@���ก�$��%=�8�5;7�
ก��$#�����������@�+��(;7)%=���ก��@��1�$�)���
;��(2����./0���L�� 

1. ��B$;#�����3.���2/�1CD� ,�ก�37�1'7�37�        :  
�.$�.�3,  ��ก; 2'��)7���C0�� 
�-�./0  26  �ก����   2554  � �3.���2/�1CD� 
�.�=�4��/ 
5�
�	
��.��ก%�ก��� : ����4�ก���$/JK��ก�,ก��
.-0�L����$/1#��-ก��8��.�=�=)�/ก���ก
;�  
�- ���� �1�+�2)�;�C 8   ()%2'� ,- $ก��M��5 �
�����.��)-� 

�!��3%��4%�#2�# : 1. �3�)�ก��.�=�4��/�-�.���
�=�������@;�ก��������������@�=���ก��
�3.���2/�1CD� ก����9�(�)7���/���'�+��83�8� 
2 ก����%8�1-��-�45�2�(��7@���3�)�ก��.�=�4��/
���,���5  2'�1�@,,�ก��7��������@�()%�����ก
�����.��)-�  1����6�-��'�+���')+7��1��.-0�6��ก-� 

 

2. +����$�-ก�-A��   :  2'��#����ก���.�=�4��/        
2'��)7���C0�� 
�-�./0 25 1������ 2553 � �3.���2/�1CD� �.�=�4��/ 
5�
�	
��.��ก%�ก��� : ���1��,3L��-;�5  ��1-�$/ 2'�(.�
,�ก17��(2���� 

2. ��%1�ก���5ก��67��.�$���5�����'� ก���)'ก�-�
1#��%�)-�  :  �.$�.�-�,���5  13+4#��� 2'��)7���C0�� 
�-�./0 28 ��
��� 2554 � �����13��-A�5 1 

5�
�	
��.��ก%�ก��� : ���16���  N���13+  
2'��8/0��8�H�ก
;���%�/; 
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�!��3%��4%�#2�# : 1. �3�)�ก��.�=�4��/�+��@,�)-กก�� 
(��������$ก���-A��;���� �-A��2'��C0� �-A��
���5ก���7��L�   ./0,%.#�@��ก��.#�����7��ก-���7���/
����13+@����5ก� 
2 .  �3 � ) �ก � � .� = � 4 ��/ 1 �� � � 6 �# � �)- ก ก � �
(��������$��-�@8�@�ก�%���ก��.#����  ��C0����0�
��%1�.4����@�ก��.#����./0$/ 
 

 

 
 

�!��3%��4%�#2�# :        1. ก��67��.�$��%1�ก���5 
ก��.#������,-�ก��.$)���)'ก�C8L�7 ก���)'ก�-�
1#��%�)-� @��ก-�ก)37��ก
;�ก�,-���-$�����81/�� 
2. ก��67��.�$��%1�ก���5ก��@�������'� ����
���ก����8�ก��$���ก���)'ก�-�1#��%�)-� @��ก-�ก)37�
�ก
;�ก�,-���-$�����81/�� ��C�2'�./01�@, 

3. ก��67��.�$��%1�ก���5ก��.#���� ��-8H�ก��
$#�����8/��; @���3�)�ก��37��)-� �.�=�4��/ �#�L�
��-�@8�@�ก�%���ก��.#����  �87� ก��$#��������
��7��,���,-�()%;7���C0������'7ก-��3�4���  ก����$
(����กก���  ก��.# ��%L�@��ก-�1- ���()%
1�0�(�$)��� 

 

3. ก��(ก��GH����7��1����1���5  :     �.$�.��
58-� 
,�;;%�-�  2'��)7���C0�� 
�-�./0 27 ��
���� 2553 � �����13��-A�5 1 

�!��3%��4%�#2�# :        1. �3�)�ก��.�=�4��/�+��@,6�� 
1���ก��.#�����G,,3�-� ./0�/ก����)/0��(�)���'7
;)�$��)�  �/�)-กก�%���ก����$  ก��,-$)#�$-�
����1#��-H  ก��(ก�L+�GH����7���/1;�()%��7���/
��;32) 

2. ก���#��)-กก��(��������$��-�@8�@�ก�%���ก��
.#����  ��C0����0���%1�.4����@�ก��.#����./0$/ 
 

 

 

 

 

 
4.  �/ก�������������'�;����%�$&������'�./0ก#���$@�+�� 1 .-D�./0�/��'7@�;-��3��)()%(�)7���/���'�
�C0� O ./0��9�(���:��-;�./0$/  ��0�6!��������ก)��&.�,��7!����   �&�5&�0�.��ก����7!��&
��ก�8���ก��  (explicit knowledge)     

 4.1 ������������
�5&�0�.��7!��&��ก�8���ก�� <!��,������8 2553  
  - �'7�C��%��ก��,-$ก�������'��.�=�4��/  ก���������.��/�� ก��67��.�$
()ก��)/0����%1�ก���5  ��%,#��	����%��� 2553 

  - P��+���')�%��ก��,-$ก�������'��.�=�4��/ ����&�LN�5�.�=�4��/ 
 4.2 ������������
�5&�0�.��7!��&��ก�8���ก�� <!��,������8 2554   

  - P��+���')�%��ก��,-$ก�������'��.�=�4��/ ����&�LN�5�.�=�4��/ 
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�	����%��� 2553  
��C�87�� �.�. 2553-ก.�. 2553 

�	����%��� 2554 

��C�87�� ;.�. 2553-��.�. 2554 

ก��������,-$ก�� ก�����ก����8�ก��()%��-�(�)�67��.�$< 
ก��1-����()ก��)/0�������'� ก��67��.�$�=���� 
�ก/0��ก-�ก��,-$.#�(2��3.4��1;�5 5 �	 (�	����%���
2555-2559) ()%ก����%ก-��3�������@�./0$/    
�-�./0 2 ก3����-�45 2554 � ������%83� 214 �����
13��-A�5 1 �.�=�4��/ 
�%�&�ก�-.�&��� : ����4�ก���$/JK�����(2�  2'�87��
�4�ก���$/JK����8�ก��  �-�����17��(2����  ()%�3�
�)�ก;  �%L�.�5  ,�ก�'��51�ก�,��ก
�()%�-A��
��8/� 
5�
�	
��.��ก%�ก��� : 2'�������()%�3�)�ก� ��%,#�
��7�������1��ก�,         �87�     M��5������.��)-�  
13�1-�������  ()%�'��5���ก��.��ก��(�.�5 24 8�.  
()%�3�)�ก��.�=�4��/ 

1. ��B$;#�����3.���2/�1CD� ,�ก�37�1'7�37�        :  
�.$�.�3,  ��ก; 2'��)7���C0�� 
�-�./0  26  �ก����   2554  � �3.���2/�1CD� 
�.�=�4��/ 
5�
�	
��.��ก%�ก��� : ����4�ก���$/JK��ก�,ก��
.-0�L����$/1#��-ก��8��.�=�=)�/ก���ก
;�  
�- � � �� � 1 � + � 2 )� ; �C 8    2'� ,- $ ก � � M � �5 �
�����.��)-�  ()%�3�)�ก��.�=�4��/ 

2. +����$�-ก�-A��   :  2'��#����ก���.�=�4��/        
2'��)7���C0�� 
�-�./0 25 1������ 2553 � �3.���2/�1CD� �.�=�4��/ 
5�
�	
��.��ก%�ก��� : ���1��,3L��-;�5  ��1-�$/ 2'�(.�
,�ก17��(2����  ()%�3�)�ก��.�=�4��/ 

2. ��%1�ก���5ก��67��.�$���5�����'� ก���)'ก�-�
1#��%�)-�  :  �.$�.�-�,���5  13+4#��� 2'��)7���C0�� 
�-�./0 28 ��
��� 2554 � �����13��-A�5 1 

5�
�	
��.��ก%�ก��� : ���16���  N���13+  
2'��8/0��8�H�ก
;���%�/; ()%�3�)�ก��.�=�4��/ 

3. ก��(ก��GH����7��1����1���5  :     �.$�.��
58-� 
,�;;%�-�  2'��)7���C0�� 
�-�./0 27 ��
���� 2553 � �����13��-A�5 1 

5�
�	
��.��ก%�ก��� : �3�)�ก��.�=�4��/ 

 

  

5.  �/ก���#������'�./0L$�,�กก��,-$ก�������'�@��	ก����ก
��G,,3�-� ��C��	ก����ก
�./027���� ./0��9�
)��)-ก
�5�-ก
� (explicit knowledge) ()%,�ก�����'� .-ก
%+��2'��/��%1�ก���5;�� (tacit 

knowledge) ./0��9�(���:��-;�./0$/  ������<+
<!ก���3%��4%,�!��%, 
 5.1 ��กก��'����������%��$)!  ��ก���'��-�� 

  - ก�,ก���()ก��)/0����/���'� : ก��(ก��GH����7��1����1���5  �-�./0 27 ��
���� 
2554 
  - ก�,ก�����%83�/1-���� : 1-����()ก��)/0�������'�ก��,-$.#�(2��3.4��1;�5 
5 �	 (2555-2559) ()%ก����%ก-��3����ก����ก
� �.�=�4��/ �-�./0 2 ก3����-�45 2554 
  - ก�,ก���()ก��)/0����/���'� : ��%1�ก���5ก��67��.�$���5�����'�ก���)'ก�-�
1#��%�)-�  �-�./0 28 ��
��� 2554 
 5.2  ��กก��'����������%��$)!  ก��4�=,ก����
�!��)���)�ก��� !"�!# 
  - �.����ก����%1�������-D�(�ก@����%1�2)1#���&,  (�/���� 2554) 
  - ��%=�8�5+��ก���)7���C0�� Storytelling KM  (��
��� 2554) 
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